Seat No. :

M.A. Sem.-I
Dec. 2016
Economics : MAOO0C101
(Micro Economics)

Time : 3 Hours [Max. Marks : 70]

adl (2) €5 uadl oRL M 8.
() o ¥ nal RPVUA B,
(3) s nall ouell cuy euldal »is A« 54 vt cald &,

q (24) WAGAUA A Ugd viefauz-ll v st Aled 2l L)
() wlsuadl v uxaaall el Hafavl geud. o
Al

q (21) Mlausfa g 2unHl 20dd cuval d-l qufal d 2241,
(61) i[5 HgAL 2 AU ALl 2ol 2l 21 oid 921 dstad Feudl.
) LA gl AL 21dg BHd AR wlds MU 2l A 2] [Acugt 23ondl. 1%
U]
(2) aedi AlMid Aol el [ 2l
(o) “dere 3vu Gl sildaln €ld 8. - axoadl.
3. Aol (BHd yerudadl 124 g 7 wiadl (B yer kel el weala-dl 2l 53, qy
UL
UL [R5t A ALl RS AdldAl AR vd Asicts Ad axaal.
¥. AU seuerl vfausii Ukl e ardldl wul 53, ¥
WYl
(1) ot rulyrs @Ay 1Al

(o) “yeu BUHARA v «f seetrl FAl Heed dwl,



Y, (1) DA uaAL BaeL 215 6L asumi »uyl.

(e1)

(1)
(2)
(3)
()
(W)
(¢)
(o)

slfdglle [Asdyeidl el »uul.
st ARl sl s B ?
dze s sl s& 8 ?

a5 vUIAL 21 24UL.
ALesHl A AdlN ed g ?
ufdyed s Hia vled 9 ?

svasll vz e wxendl.

oigds(@s uieoll-l usl -

(1)

(2)

(3)

(¥)

()

(¢)

(o)

gl derd il 2 s AL i €l 3 Bl Alid 2l R PR €A dl,
o] dqil

(@)  2iyel ys aqail €

(er) 25 olloa-ll 2iyel »dw ¢lu

(5) ol qagail a2 dely < ¢lu

o] o eadl argail ollst argil ¢lu 8.

() (o) il

vifouml ABEA 215 s Qe add 2% 5 ©.

(@) (&) vl

dlgalvi-dl axg-l 1oL 2uas a-Us dlu &,

(=) g (o)  wilg

sy AL vd 2 Al AU 5 B,

(1) vie9ct (o) senar  (s) 2w (3) @sw

Aldid 4L Ul a1

() 4 (CYEN (5) y-u (8) wteic
AUFS seuet 2R L 2iBLs SsAHSs v 2 Ad Y 20HRd
Qe 8. 20 QA ............. 8.

(21) A (o) 242401 (5) acy



Seat No. :

M.A. Sem.-I
Dec. 2016
Economics : MAOOC101
(Micro Economics)

Time : 3 Hours [Max. Marks : 70]

Instruction : All questions carry equal marks.

1

(A) Critically explain Prof. Samuelson’s Definition of economics.
(B) Give the limitations of Micro economics and Macro Economics.
OR
(A) Critically discuss Prof. Marshall’s definition of Economics.
(B) Give meaning of Partial and General equilibrium. Bring out the difference
between the two.

Explain the breaking up price effect into income and substitution effects as given by

Prof. Hicks. 14
OR

(A) Discuss the principles of diminishing marginal rate of substitution.

(B) “Indifference curves are convex to the origin” Explain.

What does price elasticity of demand mean ? Discuss the method used for measuring

price elasticity of demand. 14
OR

Discuss critically the four concepts of consumer surplus by Prof. Kick's.

Discuss the Pareto’s optimum conditions of social welfare. 14
OR

(A) Discuss Bergson’s Social Welfare function.

(B) Explain the importance of “Value judgment™ in welfare economics.



3l

(A) Answer of the following in one or two lines.

(B)

1
2)
3)
4)
3)
6)
7)

Give meaning of dynamic economics.

What are the Giffen goods ?

What is indifference curve ?

What is meaning of income effects?

What is consumer surplus ?

What is meaning of Cross elasticity of demand ?
Discuss the importance of micro economics.

Multiple choice questions :

1)

2)

3)

4)

3)

6)

7)

If indifference curve is straight line on which marginal rate of
substitution remains constant, then two goods are..

a) Perfectly complementary goods.

b) Perfect substitutes for each other.

¢) Having no relation.

All inferior goods are Giffen goods ?

a) True b) False

Robbins presented Economics as a positive science.

a) True b) False

Demand of luxurious good is income inelastic.

a) True b) False

Accoeding to Adam Smith Economics is Studying about ..............
a) Scarcity b) Welfare c¢) Wealth  d) Development.
The Slope of marginal utility curve is

a) Positive b) Negative c) Zero d) Infinite.

“The welfare economics is partly positive and partly normative science”
St

a) False b) Absurd  ¢) True.
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1 Give the reason for market failure and explain how these failure can be corrected by
public sector. 14
OR

(A)  Discuss the role of private sector in Indian economy.
(B)  Give the difference between Private Goods and Public Goods.
2 Critically evaluate the Arrow’s impossibility theorem. 14
OR
Evaluate the Median voter theorem.
B Discuss reasons given by Peacock and Wiseman for increasing public expenditure.. 14
OR
Discuss Samuelson’s Pure Theory of Public expenditure.
“ Discuss the ability-to-pay principle for equity in taxation. 14
OR
Explain in detail the concept of Laffer curves.
5 Choose the correct option :
(I)  Which of the following are basic economic problems ?
(a) Which goods and service are produced with limited resources.
(b)  Decision about production method.,
(c) Decision about distribution method.
(d)  All of the above.
(2)  Which of the following is not the property of pure private good ?
(a) Competition (b) Price (c) Indivisible benefit. (d) Preference.

(3)  The characteristics of spillover effects in fond it..
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(a) Private goods (b) Public goods
(c) (a) and (b) both (d)  None of the above.
Which of the following is included in the classification given by Carl Shoup.?

(a) Collective consumptive goods  (b) Group consumptive goods.

(c) Marketable goods (d)  All of the above,

Market system works on

(a) Price (b) Demand  (c) supply (d) Excludability principle

Which of the following is not social capital ?

(a) Transportation (b) Communication (c) Firms (d) Ports

In lieu of market, which of the following process is necessary to know preference
of the people ?

(a) Political process (b) Price (¢) (a) and (b) both (d) None of the above.
In Which of the following pension, subsidy, interest payment etc. are included ?
(a) Private expenditure (b) Exhaustive expenditure.

(c) Transfer expenditure (d) None of the above.

‘In the initial stages of economic development out of total investment, the
proportion of investment in public sector is high.” Who had made this statement ?
(a) Musgrave (b) Rostove () (a)and (b) both  (d) None of the above.
Expenditure tax is a

(a) Sales Tax (b) Direct Tax (c) Indirect Tax (d) None of the above.

The process by which the tax burden is shifted is known as

(a) Tax impact (b) Tax Shifting (c) Tax incidence (d) None of the above.
In income tax the tax base is

(a) Income  (b) Expenditure (c) Saving (d) All of the above.

(13) Which of the fowling are the characteristics of a good tax system ?

(14)

(a) Efficiency. (b) Equity.  (c) Flexibility (d) All of the above.
“The direct monetary burden of tax is known incidence‘- Who has made
this statement ?

(a) Keynes (b) Hicks (c) Dalton (d) None of the above
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1 Whatis Flexible Exchange Rate ? Explain the arguments in favour and against
Flexible Exchange rates ? 14
OR

Critically evaluate the new Export-Import policy after 1991 in India.

2 What do you mean by the Assignment Problem ? How has it been solved by the
Mundel Model ? Explain. 14
OR
(A) Difference between Balance of Trade and Balance of Payment.
(B) Explain the concept of favourable and Un favourable Balance of payments.

3  Whatis development ? How devaluation affects to Balance of Payment ? 14
OR
Explain expenditure changing Fiscal and Monetary policy to bring about internal and
external balance.

4  Critically evaluate Mint power parity theory. 14
OR '
What is Exchange rate ? How can exchange rate is determine by demand and supply
theory ? Explain.

5  Choose the correct answer from the following and write : 14
(1) Which system is accepted by most of the developing countries of the world. ?
(a)  Flexible Exchange rate. (b)  Stable Exchange Rate
(¢)  Individual Exchange Rate.
(2) Devaluation of currency implies.
(a)  Deliberate and official reduction in the external value of the currency.
(b)  Currency contraction.
(¢)  Reduction in the external value of currency brought about through market forces.



(3) Rate of Exchange means.
(a) Internal value of currency. (b)  External value of currency.
(c)  Price of Money.

(4) Mint parity theory is valid under.
(a)  Global Standard. (b)  Credit Money.
(c)  Paper Money.

(5) Automatic adjustment in the balance of payments through income change had
been explained by

(a)  Prof. Marshall (b)  Prof. Samuelson.

(¢)  Prof. Kindleberger.
(6) Since year did the policy of liberalization, Privatization and

Globalization imply in India.

(a)  Year 2005 (b)  Year 2001 (c)  Year 1991
(7) Theslope of foreign exchange rate curve is.......

(a)  Positive (b)  Negative (c) Infinitive.
(8) How many account are there in the balance of Payments ?

(a) Two (b)  Three (¢) Five.

(9) Which of the following items are included in the balance of Trade ?
(a)  Exports and Imports of visible goods.
(b)  Exports and Imports of invisible goods.
(¢)  International movements of capital.
(10) Which of the following are non-monetary measures to correct an adverse
balance of Payments ?
(a)  Measures to promote exports and restrict imports.
(b)  Devaluation of Currency.
(¢c)  Deflation of Currency.
(11) What is the exchange rate with $ and Rs. In current time.
(@ 1$=50Rs. (b) 18$=65Rs. (c) 1$=75Rs.

(12) International trade is the outcome of
(a)  Political relationship
(b)  Culture
(¢)  International division of labour.
(13) The relationship between the exchange rate and the prices of tradable goods is known as
the :
(a) Purchasing power parity theory.
(b) Asset markets theory.
(c) Balance of payments theory.
(14) The exchange rate is kept the same across geographically-separate markets by
(a) Hedging (b) Govt. regulation (c) Arbitage.
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Discuss in detail Demographic Transition Theory.
LTl
s [Asn @ed o 7 2E% [Anau ULl AR Jxondl.

What is Economic Development? Explain in detail indicators of economic development.

2 A Badl 2uls sl Dud Asieds Ad waendl. 14
Explain the Adam Smith theory of Economic Development.
L]
gafler ol (sl v Aaudd--l 2ulEs Qs soud 2l 3.

Discuss the role credit and innovation in economics development according to Schumpeter ?

3 dRud st 20lEd yrasid Hidd 1@ dd weadl. d-l yuu sl oeudl. 14
Explain Lewis model of unlimited supply of labour in detail with its main criticisms.
244l
(21) 2l usq (oflar yau) Rigid wuel RcuTUABNAL US1R Rul.
Types of indivisibility according to Big Push theory.
(o) ol yau Rugiced wdla-ics yeisd 53,
Critically appraisal of Big Push theory.

4 zad s Rl vidl datdl et AlRdR 2424l 14
Discuss in detail the role of agriculture sector in Economic Development of the country.
21441
2ULEIBLSeAL w1 aHondl. [Asaudl Balui »ildlolsenl dailfs > o & ?
Explain the meaning of industrialization. What is the rational of industrialization in

developing countries?
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A 625 ua 2 s et wie 59 il Gradyi s s (a,b,c »i- d) quil. 14
Objective answer.
(1) “odfloflri Bvas wise 214 yasill 6l ouxy siad 2 87 - w1 R 94 8 ?
(a) +5x (b) Maua (c) ddla (d) =
“ Vicious circles of poverty operate both on the demand side and the supply side”
This statement is of ................
(a) Nurkse (b) Myrdal (c) Lewis (d) Singer
(2) andl@s@da 2o d-fl WA ... 4 & ?
(a) il wxdl (b) d@iayada 2s-lsa suq
(c) 3d-l Ryad (d) csiauude Hind 214 geadl 2ialaq
An undeveloped country possess.
(a) Thin Population (b) Unutilized technical know how
(c) vast capital (d) Unutilized human & natural resources.
(3) 28u sdsal Bgid S8l 29 sl ?
(a) Sas (b) =2 (c) Al (d) {2a1a
Who coined the theory * Circular causation” ?
(a) Kindlerberger (b) Streeten (¢) Singer (d)Myrdal
(4) a-u [Qsedixial APusel %39 aalisda o © ?
(a) 3l ozl [@sa (b) @R
(c) vurellsml (d) ezl 29143 g214)
Which of the following is an essential feature of globalization?
(a) Development of capital market (b) Disinvestment
(c) Privatization (d) Reduction of trade barriers
(5) AdlA s sean ewdldi Rousd £ & 7
(a) 2ecua (b) 4cua (c) 6 auat (d) 8 sua
Lewis had divided economy in...............
(a) 2 Sectors (b) 4 Sectors (c) 6 Sectors (d) 8 Sectors
(6) ool Roll-a 4l Rgid Rsauel o ?
(@) 2AldRA Addle (b) Ay 2aaue
(c) esldlwse gddls (d) urums gdae

Benzamin Higgins has developed the theory of..................
(a) International dualism (b) Financial dualism

(c) Technologies dualism (d) Social dualism
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(c) aaL o qall _ (d) GuariL 2isys 4.

Unbalance theory focuses on the development of............

(a) Key Sector (b) All sectors including key sectors (c) All sectors (d) None of them.
(8) iria %Al Afetell 32 2l 565 & 7

(a) olllas wide (b) *iria alxt 2udla-nl seuq

(c) ala Resle (d) GuznL am %

The major problems facing the human capital formation are

(a) Braindrain  (b) Lack of manpower planning (c) Population explosion (d) All of these
(9) [Rsinui %A daudd-l s Falys uz e wodl © d stefauslle s g @ ?

(a) gxlle: (b) ¥+ (c) 5 (d) A2 A3+
The Economics who stressed the role of innovation and entrepreneurs in development is
(a) Schumpeter (b) Hirchman (c) Nurkse  (d) Rosenstein Rodan

(10) 133 495191 Hivwell euzgs Avas dlsar 3, 3 eafdenia o) elemel 59 6 ?
(@) 2B Qs (b) vdlavus s (c) vtuglad Rism (d) auglad @sa
To Break the vicious circle on the demand side of capital, Nurkse has pleaded for....

(2) Industrial Development (b) Agriculture Development
(c) Unbalanced Development (d) Balance Development
(11) cudln vieesqzensi Vidlda-l sl ...
(a) R . (b) adl =il 8. (c) adl 26l 9. (d)Gua-u 2Lsyal 14

The share of agriculture in Indian economy is.....

(a) Stationary (b) Increase (c) Falling (d) None of these.
(12) s talui Ja1 usizri Gloteu Qs 2dfa 1BHAL v 20 B ?

(a) v [Amus Geloll (b) -ttt weanrit Gelloll () el i Gelol) (d) 53 Gelol

In developed countries top most priority is given to the development of

(a) Agriculture based industries (b) Small scale industries

(c) Large scale industries (d) cottage industries
(13) “uiel usa” Rugict 02 eafdeamidl s w2 oz 33 & ?

(@) vidRvus & (b) esllsa dia (c) g Rda dx (d) Guarl D1sual 4.

“Big Push Theory” depends on.....

(a) Agriculture Sector  (b)Technical Sector (¢) Large scale Sector (d) None of these
(14) Rswsld yas 2402 uslia 2y,

&) 1717 (b) 1817 (c) 1917 (d) 1921

Ricardo’s book on “Principle on Political Economy & Taxation” was first published in

(@) 1717 (b) 1817 (c) 1917 (d) 1921
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Explain the nature and scope of Environmental Economics in detail. 14
OR

Explain Environmental Kuznets Curve. What is its significance ?

What are the characteristics of public goods? How does market failure occur in public goods ? 14
OR

What is a common property resource ? How is its different from public goods? Discuss

the “tragedy of the commons” in detail.

Explain the various instruments to control environmental pollution. 14
OR

How do ‘Pigouvian tax’ and “Trade able Pollution Permits Policy’ control Environmental pollution.

Explain ‘Limits to Growth” and ‘Zero Growth’ with criticisms. 14
OR

Explain H.Daly and Solow-Hartwick’s models of sustainable development.

Choose the correct option. 14

(1) Why environmental economics is required ?
(a) Environmental economics to bring harmony to economic system and the environmental.
(b) Study environmental economics to bring harmony to the economic system and the
political system.
(c) Study environmental economics to find harmony with oneself.
(d) Study environmental economics to find harmony other people.
(2) Which law of Thermodynamics states ‘The change the internal energy of a
closed thermodynamic system is equal to the sum the amount of heat energy supplied
to or removed from the system the work done on or by the system’?
(@)  The 1% Law of Thermodynamics. (b) The 2™ Law of Thermodynamics.
(¢)  The Coase Theorem. (d) The Porter Hypothesis.
(3) Negative cost spillovers means.
(a) Result in too much of a product at too low a prise.
(b)  are exemplified by air pollution and education.
(c) are exemplified by transportation and immunization.
(d) result in too little of a product at too high a price.
(4) What is entropy ?
(a) Energy used in economic activity like production, transportation and consumption.
(b)  Economic differences equalizer over a decade.
(c) Energy difference equalizer over time.
(d) All energy comes from environment.
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an excise tax newly imposed on a good for which negative externalities are generated

in production would tend to cause.

(a) enormous excess burdens relative to tax revenues collected.

(b)  unambiguously enhanced economic equity.

(c) greater use of the good to replace its close substitutes.

(d)  higher prices and falling production, which may be desirable in such cases.

Which items from list below is positive externality?

(a)  Public Immunization. (b)  Traffic jams.

(c) A neighbour’s barking dog. (d) All answers above are correct.

What is market failure?

(a) Something prevents the market to allocate resources efficiency.

(b) Both consumption and producers surpluses are maximized.

(c) Free market of individuals acting in their own self interest leads to a socially
desirable result.

(d)  None of the answers in correct.

Which is most associated with the non-exclusive characteristics of a public good ?

(a) free riding. (b) Negative externalities.

(c) Rival in consumption. (d) None of above.

Why are local governments reluctant to increase environmental standard and regulations ?

(@)  To attract industry indirectly to increase in jobs and wealth.

(b)  To increase the health standard of citizen.

(c) To make life easier for its citizen.

(d)  None of answers above is correct.

Which answer below is not a market failure ?

(a) Asymmetric information (b) Monopolies.

(©) Externalities. (d)  Economies of scale.

What is a bundle of rights that describe an owner’s rights, privileges and limitations

foe use of a resource?

(a) Private goods. (b) Public goods

(¢)  Property rights (d)  State-property

Why do politicians perfect command and control regulation ? (CAS)

(a) Many are trained as lawyers.

(b) They create of laws and regulations as their jobs.

(c) The costs of CAC are not obvious.

(d) All answer above are true.

(13) Government................to help a firm pay for a specific pollution abatetment technology .

(a) Imposes a tax on pollution. (b) Grants a subsidy.
(c) Defines technology standards. (d) Places a permit.

(14) Please define the Emission standard for command and control regulation.

(a) Regulates the amount of pollutant present in the surrounding environment.
(b) Regulates the total level of emission allowed in a locality.

(c¢) Government uses price and quality mechanism to internalize the externalities.
(d) Require polluter to use certain technologies, practices or techniques.



